FIELD REPLAGCEABLE UNIT DOCUMENTATION
Satellite”

300/310/320/330 Series

EATTERY PACK REMOWVAL

Battery Pack

Battery Latch

. Turn the cormputer upside dovwn & shown,

. Slide the battery |&ch in the direction of the arrow to
release it

. Pullthe batery pack slightly fonvard and lift
out the battery pack.

OPTIONAL PCMCIA CARD REMOVAL

4!

| L - I
[ —— e

A AR b

FPC card
lock

PG card
zlot cowver

1. Cpenthe PC card slot cover.

2. Slide the PC card lock to the unlock position.

3. Pull out the gject button next to the PC card you
want to rernove and press the button to pop the
PC card out slighthy,

4 Graspthe PC card and remove it.

EATTERY REMOWVAL

Battery pack

B attery cover tab

Battery cover tab
Battery cover assembhy

1. Push two tabs onbattery cowver ass'y. outwards and
remove the batery pack in the direction of the arrow

KEYBOARD REMOVAL

Feyboard

Feyboard brace

1. Cpenthe display panel.
2. Lift out the Keyboard bracs.

TOSHIBA

Tough Enough for Today’'s World.



FIELD REPLACEABLE UNIT DOCUMENTATION
Satellite

300/310/320/330 Series

KEYEOARD REMOVAL

keyvboard

Feyboard
cable

_ Feyboard
. connector

. Rotate the beyboard out and lay tface down on the
palrm rest. Be careful not to apply pressure to the
keyboard cable.

. DiEconnectthe Feyboard cable from P10 on the
systerm board and remove the keyboard.

HDD REMOVAL

TrRAREREEY —

2 525 <ilver screw

HOD slot cowver

1. Turn the computer upside down.
2. Bemove one M2.5:25 silver screw.
3. Lift offthe HD D =l ot cowver.

EXPANSION MEMORY REMOVAL

Irsulator sheet

[ ]

Expansion
ITiE mo

it
Latches

1. Lift up the insulator shest covering the expansion
rmermory. hake sure the computer is in boot mode.

2. Genfly press out the latches and the expansion
rre oy will pop up.

3. Grasp the expansion memory and pull it out.

HOD bracket HOD

1. Grasp the HOD bracket and pull it fonward to
diconnectthe HOD, then grasp the back end of the
bracket and lift it out.

2. Remove four flat- head screws from the HOD
braclet and lift outthe HDD.

TOSHIBA

Tough Enough for Today's World.



FIELD REPLACEABLE UNIT DOCUMENTATION
Satellite”

300/310/320/330 Series

Speaier LCD Speadierinvertar
cable cable cable

TOP COVER REMOVAL

hi2 S5
zsitver screws

Tape

W2 Sl 2
sitver sorens Insulator

1. Turn the computer upside down and removetwo 1. Liftup the insulator covering four cables and

M2.5x5 silver screws from the battery slot, one digconnect them: =t speaker cable from P21, right

M2 .55 silver screws from the HD D slot, five W2 Sx25 speakber cable from PJZ2, FL cable from PY and

silver screws from the bottorn cover andtwo M2 SxE LED cable from P (DETH) or PJZ3 (TFT) models.

silwer screws from the back ofthe computer. NOTE: Keeptape covering SpeakerfImeerter cables for
2. Turnthe computer rightside up and open the display. assembh:.

INSULATOR REMOWVAL

Ire ulator

W2 Sl
sihver™s;
Tlewns

=D iEplay
asembly Tape

o~
4 A Latch
r

1. Remove four M2.5x6 brass screws securing the RTC & backup battery pad

top cover. 1. Lift out the insulaor over the positioning pin.

2. Release eight Iatches securing thetop cowver and MOTE: Be sure to reinstall the irsulator when azsembling
display assembly: three latches on the left side, the unit. if the insulator i notinstalled the unit
threelatches on the front and twao |aches on the will not powver TN,
rig bt =id .

3. Lift off thetop cover and display assembly in the

Tough Enough for Today’'s Word.




FIELD REPLACEABLE UNIT DOCUMENTATION
Satellite”

300/310/320/330 Series

RTC and BACKUP BATTERY REMOVAL LED BOARD and MEMERANE SWATCH REMOVAL

Fle
cable

Badkup battery

1. Remove the tape securing apad overthe RTC and
backup batteries.

2. Dizconnect the RTC battery cable from PJ7T on the
systemn board.

3. Dieconnect the backup battery from P J202 anthe
systern board.

4. Lift outthe RTC and baclup batery.

FDD REMOVAL

P14

FOoD
flex cable

2 55 brass screw

1. Dis connect the FOD flexible cable from PJ14 on the
systern board.

2. Remove one M2 .S=E brass screwsecuring the FOD
and remowve the FOD.

3. Remove four flat-head screws securing the FOD o the
FOD case and separate the FOD from its case.

4. Dis connect the F DD flexible cable from the FDD.

W2 55 LELD
zsilver screw

FJgo

fMembrane

board zwiteh

1. Disconnect the LED board flexible cable from the
LED board.

2. Remove one M2.5x<6 silwer screw.

3. Liftup the leftside of the LED board to clear a latch
on the rightside to remove the board.

4 Dizconnect the membrane switch cable from P2 on
the system board.

5. Release one latch at the front edge of the membrane
switch and lift out the membrane switch.

MOTE: The FO[, flexible cable and FOD bradket are all
separate parts. Please DO NOT send the
defective F DD with the flexible cable and brack et
to TOSHIBA. The four screws, flexible cable and
the FO O bradkets hould be kept o assemble the
FO O you receive fraom TOSHIBA for the
custormer's uni.

TOSHIBA

Tough Enough for Today's World.



FIELD REPLACEABLE UNIT DOCUMENTATION
Satellite”

300/310/320/330 Series

CD-ROM DRIWVE REMOVAL

MOTE: The CO-RCOK, flexible cable and bradket are all
separate parts. Please DO MOT zend the
defective CD- RO, flexible cable and bracket
to TOSHIBA. The two screws, flexible cable and
the COD-R O brackets hould be kept to
azsemble the C0O-F O vou receive from
TOSHIBA for the customer's unit.

CAUTION: Whenyoulodk PJESRE anthe CO-ROM
connector and PJ1S on the system board,

CO-R Ok push both = ides of the connector lever at the
flezible cable

2 =0 brass sorews

same time. fyou push the center ofthe
1. Peconnectthe CO-ROMflexible cable from PJ16 lever, the cable can become disconnected
on the systerm board.

easily orthe connector broken,
2. Removetwo M2xE brass screws securing the W7 54
CO-ROM drive. =

3. Slide out the C O-R OM drive in the direction of the brass, screx s
ar rows),

SYSTEM BOARD REMOVAL

W2 524
brass soen

Latches

PCoand
eject buttons

System W2 524

Braie
board brass screw

1. vouwill first remowve the PC card slot cover, Pull out 1. Remove two Mz.Sxd brass screws. One s ecuring the
the PC card eject buttons and push them in fully; systemn board directly and the other = ecuring a small
do not bend them. brace onthe corner of the systermn board, Lift out the

2. Ire et tweezers between the top of the PC card slot . bHrace W'l:h ther-.-t?éiuélb —_—
cover and the bottomn cover ofthe computer to release - memove Tae s, Fass Screwvs secunng the
twao latches . Ey:n*stem bioard. _

3. Pullthetop of the PC card slot cover fonvard to 3. Lift up the left side of the systemboard aboutd cm
remove it. Twe irternal latches preventthe card from and pull it out from the left side to avoid damaging the
being pulled straight out, so rotate the top. FC card gject buttons.

TOSHIBA

Tough Enough for Today's World.



FIELD REPLACEABLE UNIT DOCUMENTATION
Satellite”

300/310/320/330 Series

COOLING FAN REMOVAL REMOVING THE SPEAKERS

- System
e _omie= board
P14 - —
Tape Cooling  silver screws 7 5eR Left and Right
fan [A%5 5 Crews Speakerbrace

1. Remove Tape covering PJ1 and the fan cable.
2. Diconnectthefan cable from PJ1 on the system
board.

3. Removetwo MZ<14 screws securing the cooling fan.

4. Lift out the cooling fan from the systemboard.

MOTE: The cooling fan and system board are separate
parts. Flease DO NDOT=send the fan to TOSHIBA
with defective system boards. The fan and twwo
sorews should be keptio be attached to the
systermn board you receive from TOSHIBEA for the
custorner's unit.

1. Remove one M2 5«6 screw s ecuring each speaker brace.
2. Rermove each brace and lift outthe speaker.

TOSHIBA

Tough Enough for Today’s Wond.



FIELD REPLACEABLE UNIT DOCUMENTATION
Satellite”

300/310/320/330 Series

DISPLAY MASK

1. Remove mask seal andname seal at the hinges
to expose twio W2 SxE brass screws securing the
display maslk.

2. Remove thetwo M2.5#6 brass screws thatwere
covered by the seak.

3. A fotal of 18 snaps secure the display mask.
Carefully irsert vour fingers between the mazsk and
the LG D panel and pry open the snaps. Startwith six
snaps across the top of the display mask.

4., Continue unsnapping the mask along the sides
(dznaps on each side), atthe bottom (2 snaps)
and atthe hinges (2 znaps).

TOSHIBA

Tough Enough for Today's World.




FIELD REPLACEABLE UNIT DOCUMENTATION

Satellite”

300/310/320/330 Series

FL INVERTER and SCREEN

LCO module

1.

2.

M2 527
silwerscrens

T
Hyw

“cable

hi2 G=6
bras=s screw
FL
inwerter
board

W2 5x6
brass screw

Contrast board

W2 520
brass screw

hi? 5=7
silver screw s

R ermove two M2 SxE brass screws securing the FL
inwverter board.

Carefully rotate the FL inwerter board out; from right to
left then disconnect the FL inwerter cable from CN 1
and the HY cable from CTHZ.

.Remove one M2.5x brass screw securing the

contrast board, ON DS MODELS OM Lyl

.DiEconnect the cormtrast board cable from PJ1 on

the contrast board and lift out the board.

.Remove four M2 .57 silver screws securing the LCD

module to the LED cover.

. Carefulty rotate the LC D module from right to left

of the LC D cowver.

.Diconnect the LCD cable from the LCD module

and rarmowve the LCD from the cormputer.

TOSHIBA

Tough Enough for Today's World.



